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M Open aceess Resource s
a) Non excludable
bi Non rival
¢) Not managed
d) All the above
()2 What is not true regarding non-renewable resources
- "'a:_Namre provided b) Use can be subtractive but with the capability of regenerating

c)useis exhaustible d) None of these
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Q5 Easu: reason for the failure of scarcity hypothesis{Bowers,1997) is/are .
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Sms ieher grade resources are exliausted lower grade resources are found 1in areates

abundance .

b) Increases in prices stimulate exploration lor new deposits and induce recyching
¢) botha andb

ﬂ') neither a nor b
i

. ccording to Environmental —Kuznets curve, environmental quality ........ at the initial

d} none of thse
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ated nor dest royed

Q6 Establishes the principle that energy can neither be cre
¢) Tradable perimits

. M Coasze theorem b} first law of thermodynamics

d) Existence value

' “I}?Fﬁf th¢ monopolist, ‘Hoteling’s Rule is that ...
ljﬂlrg’lna'[ revenue will grow at the rate of interest
b Pnte will grow at the rate of interest
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O8 Which one of the fi L LI R, SRR
h ch one of the following characteristics 15 widely regal

ded ns being an 1Mp yriant aspect of

sustainable development?

ajlntergenerational quit} b) Increasing l._“u|]:‘.l||]1ptin|'| |,=_-,,1-.._'1‘.L|.illll"-'

¢)intera generational equity  d) Increased level of saving :?'

QY9 Which of the following is/are the kind of externality generated by free aEEEss resources (fishery or 1

forestry) 3

a) Contemporaneous externality  bJ Inter-generational externality ¢) Botha and b d) Neither a nof b

Q10 Which branch of economics 1s more concerned with the static questions of resource allo |

cation? | 4
b} Resource economics o
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a) Environmental economics

. o)bothaandb

d) neither a nor b
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Short arswer (Vpe qrestions MARKS; 8*5=40
Q11. How public goods and bad differ from private goods and bad
OR

Open. Closed and Common Access Resources?

Q12 What are the differences between
m'*:”Q.lS.H_uw are private property resource
stainable development.
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and common property resource related in the context of .:

n exhaustible resources over t
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| Ps“’ﬂ" Type Questions MARKS: 15*3=45
i Eﬁiﬁf Any Three

P02 Why market fuj) N case

W hat changes can be made 1o
. correct market (ailupe :

of environmental goods and bads?

ﬁqgj How do vou define
.::mrejﬂpmt-m'?
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sustainable d'i:"v"i._'fl.]['!'!T'll'_’!”I.? What are Lhe indicators of sustainable

Q23 The supply behavior of a price taking owner of an exhaustible resource differs from that of

an owner of ordinary goods or resources. Why?
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h ;t-- e role of forest in Indian economy. What is socially optimal level of Explnifﬁtiﬁﬁ-:... :
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